20254 F EHEHE b3 ENERR JEILFNERE 20255 E FEREFE 20254 F HRHETE(202554 A1 A1) JE SN
4R 5H 67 78 8H 9A 10A 118 12H 18 2R 3R
1hEX 11:40FK £5206 TH
1|k HES 118 1|k HES 1A 1[5k lE= 118 1K |EakR 118 18
=2 REEX0G RAG, FATRE EIRARER BFAERT
2|7k 2|& 2|8 2|7 2|+ 2| [18:20 T4 2|k 2|B 2|k 2|& 2|A 2|A
BEELSH EATRE FRIRE 13,20 7% XD B 5570
3| K 3|x 3|k 3| K 3|8 3K |RRERE 3|& 3 3|7k 3|t KIPS 3|k
AR E R #EYDH RATAR FEIRE 13,20F#& 9357
4% 48 4K | R EEG 4|2 4R 4K (BRAER 4|t 4|k 4K 48 4(K 4|5k
ZEELmA KATAE FREE 13,20TK& AETH—F L4 AFHRAS
5|+ 5|8 5 5|+ 5|k 5% |2 ikiTHRAS (%) | 5|8 5(7k 5% 5/ A 5| A EN
REAKRB EESH IEELIIR EhHAEE TR IENRE TEERHIE
6|8 (S 6 6|8 6|7k E= 6| A GES 6 6|k 6| & 6| &
ﬁé%ﬁ-fgit-)\%‘ﬁ Z8206 BETHSEE IR ifgglf_fﬁ% .
: 5 D% 3 BT 7AY)
718 AT e 7(7k 7| 718 HES 7|8 7|k UEAR=SX- ik 718 %m:i(igga—;» UES 7|5 72e
3BEE 11:40 Tk BEFERR FEHR® LEEB 1RER 11:40 &
8|k 8| A 8|8 8|k 8| & 8| A 8|k 8|+ 8| A 8| K 8|8 8|8
13:20 F#%(2~6%) & 557 FRIEE HBEMR
11:40 TR (14F) 13:20F#&
9|7k 9| & 9| A 9[7k 9|t 9[k 9K 9|8 LIES 9| & 9 A 9| A
13: 2042 (2~6%) T—ILiER Z8206 RIUTAT7RBDOR
10|A|11:40 TR (14) ES 10|k IES 108 10[k NES 10| B 10|k|® 10|x 10] 2k 10|k
1EERRRE, EEHMOLE B EBEOE ITo)E] BEZSOR
11| & |FA2E 13:20F#% |11|B 11|k |EERLOG 1|& 1(A IES 1|x 11|k 11K 1|8 1|7k 1[7k
BBIER £8206 BADE
12(+ 12| B 12|K 12| 12|k 12| 128 12|k 12|& 128 12| K 12|K
BRER1R ZIR—YD B BEZERS
13(8 13|k 13|& 13|8 13[7k 13| £ 13| A 13K 13| 13|k 13| 13|&
& B R BHXFRITEEHLEG FHIRE 13:20TK SEEHERE Z820
14|18 14|7k 14|+ 14| A | BB 2R 14|k 14|8 14|k 142 14|8 14]5k 14|+ 14|+
HERERT.FARE wEONDH FRIRE 13:20F&
15| X 15| K 158 15|X|13: 204, BRI [15|% 15|A 157K 15|+ 15|A 15| K 158 158
£8206 DERT-4FE 3MRIZE 11:40T& BRIRT FRIRE 13:20F&
167K 16|& 16| A 16| 7K | {831 2R 5% 16|+ 16| K 16| K 16|80 16| X 16|& 16| A 16| A
2EFN-FERRAE KiKIRE R 3RIFEE 11:40TK ESEYOFTEIGES) 1EFhRAT FRHRE 13: 20Tk FHIEE 13:20 T4
17| & 17|+ 17| % 17| A |18 28 3% 17(8 17{k 17(& 17|A 17[7k [BRIBHK. KARIE |17+ 17|k 17|k
REE206 BER 11:.40T% FRIBE 13:20T#& FRIRE.
KRk ERIEH. RARKTE 13:40F4%(1~4, 64F).
18|& 18(8 18{7k 18|%& 18R 18| & 18| £ 18|k 18K 18|8 18[7k 18[7K [ 15.40(54€)
HWERT
BERE ig§$ 13:20F 1R S—55 TEX(FE)
19(+ 19(A 19|K 19| 19[k 19|%& 19|8 19[7k 19%}5%]%&1&9:11& 198 19K 19K
BETMBBRFE BAERE—H 6EEFEDLS E50B
20|8 20|k 20| % 20|H 20|7k 20| 20| B 20| A& 20| 20|k 20| & 20| %
KEEAM 13:00 T4 BOE BETMBBRFE VEERERY SEERHSRF
21|R 21|k 21| 21|A 21| R 21|8 21|k 21|%& 21|8 21|k 21| 21|+
KEEFAM13:00 ™% BESEHEE BESE FRIEE 11:40TRK
22|k 22| K 22|H 22|k 22|%& 22|A 22|75k 22|+ 22| B | KBBQ TvoRMIT (22| K 22|8 22|H
RABHE BRR1KXQ PTAZL1EE #or0B8 BEEE )] BERX 11:40THK RERER FEIBE 11:40TR
23|k 23| & 23|R 23|k 23|+ 23|k 23| K 23|H 23|k 23| & 23| A 23|A
REEzAM13:00 ™% EBER BRI (NSO REHKE p N s FRIRE 11:40FR&
24k | EEmBIEA T T (24| £] 24|k 24|k 2|8 24|5k 24|% = 24| B 24|k 24|+ ig;jn VG INREFRR | o4 e 24|k | X $BRB 8
arv =
RER13:00 T4 RPN 253 FRIEE 11:40TKR
25|& 25| B [EHLFHE 25|7K 25|% 25| A 25| K 25|+ 25|k 25| K 25|@ |BER 25|7k 25|k (BT
BESEH-FREBHS- TAX v TEE HREBEHS
26|t |PTAfA S 26| A | EB=REAKA 26| & 26|t 26| K 26|% 26| 8 26(5K 26|%& 26| A 26| K 26|k
27|18 27|k 27|%& 27|8 27|k 27| 27|B 27|k 27|+ 27|k 27|& 27|&
26 ADIRE REREBRE T#&V\J%EE
28| B 28|k 28|+ 28| A 28| K 28|H 28|k 28| & 28|H 28|k 28|+ 28|+
[ZEo)=] ERAKER
29|k 29|k 29|18 29|k 29| % 29| B 29|k 29|+ 29| A 29|k 29|H
RESE&E ANERESHO ERAKER
30|k 30|& 30|B 30|k 30|+ 30|k 30| K | 4R BHL14:40 30|H 30|k 30|& 30| B
ERAKER
31|t 31|k 31|8 31|& 31|k 31|+ 31|k




